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Answer all the questions in the spaces provided.

1 The following diagram shows an apparatus used in ecological studies.
.
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2 (a) Nameth gdom whose members are ‘all microscopic. (1 mark)

(b)  State two diseases caused by organisms belonging to the Kingdom named in 2(a).

. twgtf 3 (2 marks)
oo ... ff“ffJ'“c:hP\em”[’,ub«:rcaioflgbcﬁﬁlm”mCacka‘C‘?.sAwJﬂW t
........................ Taenexds TPl s TRandd S MEaghs Paesron PP
3 During a microscopy practical, the following materials were provided:

* atemporary mount of an onion epidermis
* atransparent ruler

(a) State the aim of the experiment. A5y ( 1 mark)
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__~b) Explain how the aim stated in 3(a) can be achieved. (3 marks)
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(b) (i) Name the cell organelle that is likely to be found in abundance in the part labelled

¥ (1 mark)
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i (ii) Explain the answer in 4(b)(1). (? marks)
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5 Name two components of blood that are absent in the tissue fluid. (2 marks)
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/’( Name two Classes of the Phylum Arthropoda that have a cephalothorax. (2 marks)
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I1 The following diagram represents part of the human male reproductive system.
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\J\? - (a)f’ Name the part labelled G. (1 mark)
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State one function of the structure labelled H. waddy 9 & (1 mark)
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(C) - How is the structure labelled J adapted to its function?
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12 How do the following structural modifications in plants minimize the rate of water loss?
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14 Statc the significance of cach of the following characteristics in mammalian gase

exchange structures and surfaces.

(a)  Presence of rings of cartilage in the trachea.
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,,,,w":( Numerous blood capillaries lining the lungs. (1 mark)
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What is the most appropriate method of estimating the population of black ants 1n a
school playing field? (1 mark)
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17 (a) GQ) Name the blood Veiae] thaw‘m. 1.-'}3 PO v o SUEGReN] G s+ e 'jL,
l N AY "
(

r*?fjir-r}: CTEriunmy L v P

.......................... A= (1 mark)
_,f-"——_\‘\\ ........... .“.'H, ....................................
- N T o
:. “\\L-—f"‘!} 11) State"the role of tricuspid valve in the Mammalian
....................................................... o e mark)
e I T A Nerbrons Y | (S [~ .
Veintncle ULC )L C ondrectd —) / a ”%Jp:j:c‘ibf”‘(n/)CLQjﬁl A
' ' ~ OF oo
oY)




For more info : visit eazyarabic.com

7
h"“ ;
o ¥ (b)Y Why are people with blood group O referred to as universal donors? (2 marks)
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18 The following diagram shows germination in two different seedlings labelled L and M.
. (a)
R Lyl
O~ )
. 3 - (ii)  Give areason for the answer in 18(a)(1). (1 mark)
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ald 1 D“)‘U"ﬁm/ - K in seedlings L and M (1 mark)
;t [ G (b) State one common function of the parts labelled K in seedling .
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19 The following diagram represents a longirudmal section through a phloem ussu€.
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(a) Account for the high concentration of mitochondria in the part labelled N. (3 marks)
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State one structural adaptation of the part labelled P to its function. (2 marks)
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20 The following word equation represents a metabolic reaction taking place in an anima;
tissue.
Glucose —> Lactic acid + Energy
(@)  State the condition under which the reaction occurs. (1 mark)
n A dbsend. % X560 [nsudhaeat SRRl 4. 0850 | anacsbic, erdon
ANARIC  wpimbicuw | pnocapbwoses ;1T e
(b)  How does the size of an animal affect the rate of respiration? (3 marks)
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(b)  State the role of continental drift in the evolution of organisms. (2 marks)
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22 The following diagram represents an experimental set-up used to investigate a certain
biological process.

Boiled and cooled 5
glucose + yeast = Lime water
SUSPensian

(a) (i) Identify the biological process that can be investigated using the set-up. (1 mark)

...... P”"M«me“—/@mﬂ*ﬁhomf AT I R o O

//’r_/—(HD Give a reason for the answer in 22(a)(1) (1 mark)
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(a)  Identify the:

b (1 mark)
(1) one;
B X S S ———————— s
(1 mark)
(ii)  part labelled R.
D.dentwd . T‘O*—Q“/PEJ.. ......................................................................
(b)  Name the bones that articulate at the points labelled S and T.
§  LAHA s (1 mark)
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24 The following food web shows a feeding relationship found in a certain ecosystem.

/ Cheetah

Antelopes

/ \ Lions
Green plants Lizards \

(a)  From the food web, identify the:

(i)  organism with the lowest biomass; (1 mark)
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(ii)  trophic level occupied by lizards. (1 mark)
.............. , Secondary  Consurer | 34 braphic. vl
(b)  Name the type of feeding relationship between the:

(1) lion and the cheetah,; e (1 mark)
ol Tmespoagic) Campehhon. ... (e imipeats.

(ii)  cheetah and the antelopes. (1 mark)

....... . Predabon [ poedatr =Py, A

(c) Explain the role bacteria would play in this ecosystem. (2 marks)
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